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Part 1: logistic regression and decision trees

Find a model that predicts the log odds of some outcome y based
on a vector predictors x .



Example dataset
training_xy

## # A tibble: 10,000 × 3
## x1 x2 y
## <dbl> <dbl> <lgl>
## 1 149 178 FALSE
## 2 92 76 FALSE
## 3 170 79 TRUE
## 4 134 76 TRUE
## 5 34 28 FALSE
## 6 10 72 FALSE
## 7 180 199 FALSE
## 8 101 154 FALSE
## 9 39 67 FALSE
## 10 166 98 FALSE
## # ... with 9,990 more rows



Example dataset

ggplot(training_xy, aes(x=x1,y=x2,fill=as.numeric(y))) +
geom_tile() + coord_fixed()
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Odds

p
1 − p "to one"

Example: p=2/3 has odds of 2 to 1.

An intuitive way to think about probability.

How much would you bet against winning $1 on an event and still
break even?

Can talk about evidence multiplicatively increasing or decreasing the
odds, eg “increases the odds 2-fold”.



Log odds

x = log p
1 − p p = 1

1 + e−x

Transformation of probability which is symmetric and unbounded.

For small p, adding xs is like multiplying ps.

Can talk about evidence additively increasing or decreasing the log
odds.
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Logistic regression

Model the log odds as a constant plus a weighted sum of predictors.



Logistic regression

model <- glm(
y ~ x1+x2, family="binomial", data=training_xy)

model

##
## Call: glm(formula = y ~ x1 + x2, family = "binomial", data = training_xy)
##
## Coefficients:
## (Intercept) x1 x2
## -1.10181 0.01548 -0.01932
##
## Degrees of Freedom: 9999 Total (i.e. Null); 9997 Residual
## Null Deviance: 11370
## Residual Deviance: 8785 AIC: 8791



Logistic regression prediction

prediction <- predict(model, full_x, type="response")
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xgboost

eXtreme Gradient Boosting of decision trees.

Model the log odds as the sum of the outputs of a stack of decision
trees.

Each decision tree is a step towards better prediction of the
outcome – like fitting a model by gradient descent, but each step is
a decision tree.



xgboost
library(xgboost)

param <- list(
objective = "reg:logistic",
eta = 0.1,
max_depth = 2)

xgmodel <- xgboost(
as.matrix(training_x), training_y,
param=param, nrounds=100)

## [1] train-rmse:0.477243
## [2] train-rmse:0.457956
## [3] train-rmse:0.441487
## [4] train-rmse:0.427625
## [5] train-rmse:0.415804
## [6] train-rmse:0.405790
## [7] train-rmse:0.396876
## [8] train-rmse:0.389493
## [9] train-rmse:0.383343
## [10] train-rmse:0.378089
## [11] train-rmse:0.373847
## [12] train-rmse:0.369741
## [13] train-rmse:0.366602
## [14] train-rmse:0.363810
## [15] train-rmse:0.360950
## [16] train-rmse:0.358895
## [17] train-rmse:0.357187
## [18] train-rmse:0.355992
## [19] train-rmse:0.354041
## [20] train-rmse:0.353147
## [21] train-rmse:0.352394
## [22] train-rmse:0.350816
## [23] train-rmse:0.350242
## [24] train-rmse:0.349782
## [25] train-rmse:0.349380
## [26] train-rmse:0.347622
## [27] train-rmse:0.347312
## [28] train-rmse:0.347062
## [29] train-rmse:0.345613
## [30] train-rmse:0.345289
## [31] train-rmse:0.345064
## [32] train-rmse:0.344891
## [33] train-rmse:0.343698
## [34] train-rmse:0.343443
## [35] train-rmse:0.343279
## [36] train-rmse:0.342345
## [37] train-rmse:0.342170
## [38] train-rmse:0.341393
## [39] train-rmse:0.341192
## [40] train-rmse:0.340622
## [41] train-rmse:0.340485
## [42] train-rmse:0.340403
## [43] train-rmse:0.340087
## [44] train-rmse:0.339758
## [45] train-rmse:0.339047
## [46] train-rmse:0.338895
## [47] train-rmse:0.338798
## [48] train-rmse:0.338056
## [49] train-rmse:0.337478
## [50] train-rmse:0.337057
## [51] train-rmse:0.336936
## [52] train-rmse:0.336452
## [53] train-rmse:0.336346
## [54] train-rmse:0.335612
## [55] train-rmse:0.335573
## [56] train-rmse:0.335387
## [57] train-rmse:0.335142
## [58] train-rmse:0.335052
## [59] train-rmse:0.334984
## [60] train-rmse:0.334583
## [61] train-rmse:0.334558
## [62] train-rmse:0.334276
## [63] train-rmse:0.334214
## [64] train-rmse:0.333839
## [65] train-rmse:0.333419
## [66] train-rmse:0.332758
## [67] train-rmse:0.332720
## [68] train-rmse:0.332675
## [69] train-rmse:0.331846
## [70] train-rmse:0.331694
## [71] train-rmse:0.331637
## [72] train-rmse:0.331021
## [73] train-rmse:0.329906
## [74] train-rmse:0.329652
## [75] train-rmse:0.328988
## [76] train-rmse:0.328290
## [77] train-rmse:0.327895
## [78] train-rmse:0.327491
## [79] train-rmse:0.327176
## [80] train-rmse:0.326584
## [81] train-rmse:0.326548
## [82] train-rmse:0.326127
## [83] train-rmse:0.326080
## [84] train-rmse:0.325842
## [85] train-rmse:0.325742
## [86] train-rmse:0.325234
## [87] train-rmse:0.324685
## [88] train-rmse:0.324646
## [89] train-rmse:0.324437
## [90] train-rmse:0.323995
## [91] train-rmse:0.323835
## [92] train-rmse:0.323795
## [93] train-rmse:0.323476
## [94] train-rmse:0.323206
## [95] train-rmse:0.322956
## [96] train-rmse:0.322916
## [97] train-rmse:0.322517
## [98] train-rmse:0.322086
## [99] train-rmse:0.321971
## [100] train-rmse:0.321308



xgboost
xgb.dump(xgmodel) %>% cat(sep="\n")

## booster[0]
## 0:[f1<89.5] yes=1,no=2,missing=1
## 1:[f0<137.5] yes=3,no=4,missing=3
## 3:leaf=-0.0941757
## 4:leaf=0.121394
## 2:[f0<105.5] yes=5,no=6,missing=5
## 5:leaf=-0.18299
## 6:leaf=-0.126276
## booster[1]
## 0:[f1<90.5] yes=1,no=2,missing=1
## 1:[f0<103.5] yes=3,no=4,missing=3
## 3:leaf=-0.111718
## 4:leaf=0.0709075
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=-0.126589
## 6:leaf=-0.184897
## booster[2]
## 0:[f1<89.5] yes=1,no=2,missing=1
## 1:[f0<137.5] yes=3,no=4,missing=3
## 3:leaf=-0.0787032
## 4:leaf=0.103222
## 2:[f0<105.5] yes=5,no=6,missing=5
## 5:leaf=-0.154924
## 6:leaf=-0.101605
## booster[3]
## 0:[f1<90.5] yes=1,no=2,missing=1
## 1:[f0<103.5] yes=3,no=4,missing=3
## 3:leaf=-0.0944706
## 4:leaf=0.0606582
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=-0.105149
## 6:leaf=-0.161978
## booster[4]
## 0:[f1<89.5] yes=1,no=2,missing=1
## 1:[f0<141.5] yes=3,no=4,missing=3
## 3:leaf=-0.0645155
## 4:leaf=0.094824
## 2:[f0<105.5] yes=5,no=6,missing=5
## 5:leaf=-0.13656
## 6:leaf=-0.08341
## booster[5]
## 0:[f1<95.5] yes=1,no=2,missing=1
## 1:[f0<103.5] yes=3,no=4,missing=3
## 3:leaf=-0.0833826
## 4:leaf=0.0507159
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=-0.0910461
## 6:leaf=-0.147174
## booster[6]
## 0:[f0<103.5] yes=1,no=2,missing=1
## 1:[f1<60.5] yes=3,no=4,missing=3
## 3:leaf=-0.0497991
## 4:leaf=-0.122396
## 2:[f1<107.5] yes=5,no=6,missing=5
## 5:leaf=0.0422831
## 6:leaf=-0.0871298
## booster[7]
## 0:[f0<103.5] yes=1,no=2,missing=1
## 1:[f1<60.5] yes=3,no=4,missing=3
## 3:leaf=-0.0454696
## 4:leaf=-0.115823
## 2:[f1<107.5] yes=5,no=6,missing=5
## 5:leaf=0.0382084
## 6:leaf=-0.0810013
## booster[8]
## 0:[f1<88.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.0474759
## 4:leaf=0.0801867
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=-0.0701262
## 6:leaf=-0.133204
## booster[9]
## 0:[f0<103.5] yes=1,no=2,missing=1
## 1:[f1<61.5] yes=3,no=4,missing=3
## 3:leaf=-0.0377467
## 4:leaf=-0.106652
## 2:[f1<107.5] yes=5,no=6,missing=5
## 5:leaf=0.0340843
## 6:leaf=-0.069233
## booster[10]
## 0:[f0<103.5] yes=1,no=2,missing=1
## 1:[f1<69.5] yes=3,no=4,missing=3
## 3:leaf=-0.0387074
## 4:leaf=-0.104142
## 2:[f1<167.5] yes=5,no=6,missing=5
## 5:leaf=0.0104241
## 6:leaf=-0.124191
## booster[11]
## 0:[f1<102.5] yes=1,no=2,missing=1
## 1:[f0<129.5] yes=3,no=4,missing=3
## 3:leaf=-0.0464096
## 4:leaf=0.0484526
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=-0.0524296
## 6:leaf=-0.1292
## booster[12]
## 0:[f0<103.5] yes=1,no=2,missing=1
## 1:[f1<60.5] yes=3,no=4,missing=3
## 3:leaf=-0.0264722
## 4:leaf=-0.0946461
## 2:[f1<168.5] yes=5,no=6,missing=5
## 5:leaf=0.0111649
## 6:leaf=-0.12021
## booster[13]
## 0:[f0<75.5] yes=1,no=2,missing=1
## 1:[f1<20.5] yes=3,no=4,missing=3
## 3:leaf=0.0295024
## 4:leaf=-0.0923548
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=0.00217451
## 6:leaf=-0.119488
## booster[14]
## 0:[f1<86.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.0293537
## 4:leaf=0.0679895
## 2:[f0<152.5] yes=5,no=6,missing=5
## 5:leaf=-0.0412655
## 6:leaf=-0.114546
## booster[15]
## 0:[f0<75.5] yes=1,no=2,missing=1
## 1:[f1<51.5] yes=3,no=4,missing=3
## 3:leaf=-0.0134906
## 4:leaf=-0.0980931
## 2:[f1<170.5] yes=5,no=6,missing=5
## 5:leaf=0.00446159
## 6:leaf=-0.115659
## booster[16]
## 0:[f0<104.5] yes=1,no=2,missing=1
## 1:[f1<69.5] yes=3,no=4,missing=3
## 3:leaf=-0.019265
## 4:leaf=-0.0855905
## 2:[f1<166.5] yes=5,no=6,missing=5
## 5:leaf=0.0129663
## 6:leaf=-0.104235
## booster[17]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<73.5] yes=3,no=4,missing=3
## 3:leaf=-0.059227
## 4:leaf=0.00400755
## 2:leaf=-0.112444
## booster[18]
## 0:[f1<102.5] yes=1,no=2,missing=1
## 1:[f0<129.5] yes=3,no=4,missing=3
## 3:leaf=-0.0271529
## 4:leaf=0.0394772
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=-0.022847
## 6:leaf=-0.119729
## booster[19]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<73.5] yes=3,no=4,missing=3
## 3:leaf=-0.0535404
## 4:leaf=0.00534149
## 2:leaf=-0.1102
## booster[20]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<106.5] yes=3,no=4,missing=3
## 3:leaf=-0.0391164
## 4:leaf=0.0113772
## 2:leaf=-0.108844
## booster[21]
## 0:[f1<86.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.0151049
## 4:leaf=0.0587847
## 2:[f0<152.5] yes=5,no=6,missing=5
## 5:leaf=-0.0189961
## 6:leaf=-0.106335
## booster[22]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<73.5] yes=3,no=4,missing=3
## 3:leaf=-0.0459861
## 4:leaf=0.00640846
## 2:leaf=-0.107231
## booster[23]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<73.5] yes=3,no=4,missing=3
## 3:leaf=-0.0426956
## 4:leaf=0.00576218
## 2:leaf=-0.106138
## booster[24]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<106.5] yes=3,no=4,missing=3
## 3:leaf=-0.0305641
## 4:leaf=0.0107035
## 2:leaf=-0.105131
## booster[25]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.0131913
## 4:leaf=0.0738438
## 2:[f0<156.5] yes=5,no=6,missing=5
## 5:leaf=-0.0074297
## 6:leaf=-0.108316
## booster[26]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<39.5] yes=3,no=4,missing=3
## 3:leaf=-0.053075
## 4:leaf=0.00222808
## 2:leaf=-0.103997
## booster[27]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<75.5] yes=3,no=4,missing=3
## 3:leaf=-0.0339912
## 4:leaf=0.00626794
## 2:leaf=-0.103128
## booster[28]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.00990631
## 4:leaf=0.0684201
## 2:[f0<161.5] yes=5,no=6,missing=5
## 5:leaf=-0.00530216
## 6:leaf=-0.108326
## booster[29]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<181.5] yes=3,no=4,missing=3
## 3:leaf=0.00203617
## 4:leaf=-0.0546647
## 2:leaf=-0.10217
## booster[30]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<106.5] yes=3,no=4,missing=3
## 3:leaf=-0.0237547
## 4:leaf=0.0121287
## 2:leaf=-0.101383
## booster[31]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<38.5] yes=3,no=4,missing=3
## 3:leaf=-0.0460889
## 4:leaf=0.00342177
## 2:leaf=-0.100621
## booster[32]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.00738616
## 4:leaf=0.0640653
## 2:[f0<156.5] yes=5,no=6,missing=5
## 5:leaf=0.000327818
## 6:leaf=-0.0958298
## booster[33]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<179.5] yes=3,no=4,missing=3
## 3:leaf=0.00352843
## 4:leaf=-0.0480988
## 2:leaf=-0.0997911
## booster[34]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<106.5] yes=3,no=4,missing=3
## 3:leaf=-0.0207029
## 4:leaf=0.0122052
## 2:leaf=-0.0990532
## booster[35]
## 0:[f1<97.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.0041899
## 4:leaf=0.036698
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=0.00941917
## 6:leaf=-0.102575
## booster[36]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f1<5.5] yes=3,no=4,missing=3
## 3:leaf=0.0809566
## 4:leaf=-0.00469142
## 2:leaf=-0.0982347
## booster[37]
## 0:[f0<113.5] yes=1,no=2,missing=1
## 1:[f1<69.5] yes=3,no=4,missing=3
## 3:leaf=0.0140742
## 4:leaf=-0.0517253
## 2:[f0<140.5] yes=5,no=6,missing=5
## 5:leaf=0.0570637
## 6:leaf=-0.0151874
## booster[38]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<181.5] yes=3,no=4,missing=3
## 3:leaf=0.00412018
## 4:leaf=-0.0458136
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0438058
## 6:leaf=-0.099805
## booster[39]
## 0:[f0<38.5] yes=1,no=2,missing=1
## 1:[f1<20.5] yes=3,no=4,missing=3
## 3:leaf=0.104114
## 4:leaf=-0.0714535
## 2:[f0<179.5] yes=5,no=6,missing=5
## 5:leaf=0.00917797
## 6:leaf=-0.0402442
## booster[40]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<116.5] yes=3,no=4,missing=3
## 3:leaf=-0.0150756
## 4:leaf=0.0140203
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0417369
## 6:leaf=-0.0992182
## booster[41]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<38.5] yes=3,no=4,missing=3
## 3:leaf=-0.0367755
## 4:leaf=0.00461351
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0399599
## 6:leaf=-0.0986777
## booster[42]
## 0:[f1<5.5] yes=1,no=2,missing=1
## 1:[f0<51.5] yes=3,no=4,missing=3
## 3:leaf=0.181896
## 4:leaf=0.0282544
## 2:[f0<79.5] yes=5,no=6,missing=5
## 5:leaf=-0.0292053
## 6:leaf=0.00449525
## booster[43]
## 0:[f0<193.5] yes=1,no=2,missing=1
## 1:[f0<116.5] yes=3,no=4,missing=3
## 3:leaf=-0.014444
## 4:leaf=0.0169521
## 2:[f1<33.5] yes=5,no=6,missing=5
## 5:leaf=0.0190833
## 6:leaf=-0.0965
## booster[44]
## 0:[f1<88.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.00306149
## 4:leaf=0.0403817
## 2:[f0<143.5] yes=5,no=6,missing=5
## 5:leaf=0.0128634
## 6:leaf=-0.0821208
## booster[45]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<179.5] yes=3,no=4,missing=3
## 3:leaf=0.00481155
## 4:leaf=-0.0373536
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0374662
## 6:leaf=-0.0980456
## booster[46]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f1<5.5] yes=3,no=4,missing=3
## 3:leaf=0.0613367
## 4:leaf=-0.00241364
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0358199
## 6:leaf=-0.097486
## booster[47]
## 0:[f1<101.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.00342592
## 4:leaf=0.0321525
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=0.0169506
## 6:leaf=-0.10242
## booster[48]
## 0:[f0<115.5] yes=1,no=2,missing=1
## 1:[f1<84.5] yes=3,no=4,missing=3
## 3:leaf=0.0107985
## 4:leaf=-0.0490973
## 2:[f0<140.5] yes=5,no=6,missing=5
## 5:leaf=0.0501742
## 6:leaf=-0.0114271
## booster[49]
## 0:[f0<36.5] yes=1,no=2,missing=1
## 1:[f1<20.5] yes=3,no=4,missing=3
## 3:leaf=0.0924894
## 4:leaf=-0.0645448
## 2:[f0<53.5] yes=5,no=6,missing=5
## 5:leaf=0.0588256
## 6:leaf=-0.001416
## booster[50]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<193.5] yes=3,no=4,missing=3
## 3:leaf=0.0028469
## 4:leaf=-0.0602533
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0331579
## 6:leaf=-0.0967263
## booster[51]
## 0:[f0<116.5] yes=1,no=2,missing=1
## 1:[f1<84.5] yes=3,no=4,missing=3
## 3:leaf=0.00901206
## 4:leaf=-0.045094
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0488058
## 6:leaf=-0.00889415
## booster[52]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<183.5] yes=3,no=4,missing=3
## 3:leaf=0.00390738
## 4:leaf=-0.0343484
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0310986
## 6:leaf=-0.0960075
## booster[53]
## 0:[f0<73.5] yes=1,no=2,missing=1
## 1:[f1<51.5] yes=3,no=4,missing=3
## 3:leaf=0.0358771
## 4:leaf=-0.0618193
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.031598
## 6:leaf=0.0181534
## booster[54]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<39.5] yes=3,no=4,missing=3
## 3:leaf=-0.0282207
## 4:leaf=0.00430357
## 2:leaf=-0.0953251
## booster[55]
## 0:[f1<5.5] yes=1,no=2,missing=1
## 1:[f0<51.5] yes=3,no=4,missing=3
## 3:leaf=0.125588
## 4:leaf=0.0175252
## 2:[f0<79.5] yes=5,no=6,missing=5
## 5:leaf=-0.0216299
## 6:leaf=0.00432078
## booster[56]
## 0:[f0<191.5] yes=1,no=2,missing=1
## 1:[f0<122.5] yes=3,no=4,missing=3
## 3:leaf=-0.00962807
## 4:leaf=0.0167712
## 2:[f1<79.5] yes=5,no=6,missing=5
## 5:leaf=-0.00496918
## 6:leaf=-0.102109
## booster[57]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<179.5] yes=3,no=4,missing=3
## 3:leaf=0.00406658
## 4:leaf=-0.0280797
## 2:leaf=-0.0946167
## booster[58]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<193.5] yes=3,no=4,missing=3
## 3:leaf=0.00232085
## 4:leaf=-0.0445021
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0290237
## 6:leaf=-0.093918
## booster[59]
## 0:[f0<122.5] yes=1,no=2,missing=1
## 1:[f1<86.5] yes=3,no=4,missing=3
## 3:leaf=0.00495847
## 4:leaf=-0.031938
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0564092
## 6:leaf=-0.00830537
## booster[60]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<39.5] yes=3,no=4,missing=3
## 3:leaf=-0.0243178
## 4:leaf=0.00370502
## 2:leaf=-0.0930969
## booster[61]
## 0:[f1<5.5] yes=1,no=2,missing=1
## 1:[f0<51.5] yes=3,no=4,missing=3
## 3:leaf=0.110468
## 4:leaf=0.0146134
## 2:[f1<31.5] yes=5,no=6,missing=5
## 5:leaf=-0.0236783
## 6:leaf=0.00283289
## booster[62]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<179.5] yes=3,no=4,missing=3
## 3:leaf=0.00342326
## 4:leaf=-0.0231229
## 2:leaf=-0.0923444
## booster[63]
## 0:[f0<39.5] yes=1,no=2,missing=1
## 1:[f1<20.5] yes=3,no=4,missing=3
## 3:leaf=0.0728001
## 4:leaf=-0.0526182
## 2:[f0<50.5] yes=5,no=6,missing=5
## 5:leaf=0.0813096
## 6:leaf=-0.00148774
## booster[64]
## 0:[f0<122.5] yes=1,no=2,missing=1
## 1:[f1<149.5] yes=3,no=4,missing=3
## 3:leaf=-0.0146692
## 4:leaf=0.0471645
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0505386
## 6:leaf=-0.00689541
## booster[65]
## 0:[f1<124.5] yes=1,no=2,missing=1
## 1:[f0<127.5] yes=3,no=4,missing=3
## 3:leaf=-0.00884124
## 4:leaf=0.0220405
## 2:[f0<141.5] yes=5,no=6,missing=5
## 5:leaf=0.0269065
## 6:leaf=-0.115185
## booster[66]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f1<5.5] yes=3,no=4,missing=3
## 3:leaf=0.0381199
## 4:leaf=-0.00111177
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.029319
## 6:leaf=-0.0918221
## booster[67]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<126.5] yes=3,no=4,missing=3
## 3:leaf=-0.00626455
## 4:leaf=0.00947676
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0279646
## 6:leaf=-0.0909749
## booster[68]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.0112952
## 4:leaf=0.0579722
## 2:[f0<155.5] yes=5,no=6,missing=5
## 5:leaf=0.0131987
## 6:leaf=-0.077314
## booster[69]
## 0:[f0<193.5] yes=1,no=2,missing=1
## 1:[f0<126.5] yes=3,no=4,missing=3
## 3:leaf=-0.00639192
## 4:leaf=0.012906
## 2:[f1<33.5] yes=5,no=6,missing=5
## 5:leaf=0.0290816
## 6:leaf=-0.0674035
## booster[70]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<179.5] yes=3,no=4,missing=3
## 3:leaf=0.00314706
## 4:leaf=-0.0215452
## 2:leaf=-0.0901051
## booster[71]
## 0:[f1<101.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.00615515
## 4:leaf=0.0311711
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=0.0213026
## 6:leaf=-0.0967629
## booster[72]
## 0:[f1<38.5] yes=1,no=2,missing=1
## 1:[f0<140.5] yes=3,no=4,missing=3
## 3:leaf=-0.0475032
## 4:leaf=0.0763245
## 2:[f0<140.5] yes=5,no=6,missing=5
## 5:leaf=0.0226746
## 6:leaf=-0.0350649
## booster[73]
## 0:[f1<5.5] yes=1,no=2,missing=1
## 1:[f0<51.5] yes=3,no=4,missing=3
## 3:leaf=0.0942527
## 4:leaf=0.0077257
## 2:[f1<31.5] yes=5,no=6,missing=5
## 5:leaf=-0.022916
## 6:leaf=0.00326045
## booster[74]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<53.5] yes=3,no=4,missing=3
## 3:leaf=0.0608176
## 4:leaf=-0.00662119
## 2:[f0<162.5] yes=5,no=6,missing=5
## 5:leaf=0.00756292
## 6:leaf=-0.0771311
## booster[75]
## 0:[f0<73.5] yes=1,no=2,missing=1
## 1:[f1<55.5] yes=3,no=4,missing=3
## 3:leaf=0.0343521
## 4:leaf=-0.0593248
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.032954
## 6:leaf=0.0174569
## booster[76]
## 0:[f0<126.5] yes=1,no=2,missing=1
## 1:[f1<149.5] yes=3,no=4,missing=3
## 3:leaf=-0.0136206
## 4:leaf=0.0437824
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0521075
## 6:leaf=-0.00389867
## booster[77]
## 0:[f1<124.5] yes=1,no=2,missing=1
## 1:[f0<133.5] yes=3,no=4,missing=3
## 3:leaf=-0.00546593
## 4:leaf=0.0204012
## 2:[f0<141.5] yes=5,no=6,missing=5
## 5:leaf=0.0165564
## 6:leaf=-0.111275
## booster[78]
## 0:[f0<39.5] yes=1,no=2,missing=1
## 1:[f1<23.5] yes=3,no=4,missing=3
## 3:leaf=0.0597114
## 4:leaf=-0.0509466
## 2:[f0<53.5] yes=5,no=6,missing=5
## 5:leaf=0.0624782
## 6:leaf=-0.00173153
## booster[79]
## 0:[f0<73.5] yes=1,no=2,missing=1
## 1:[f1<55.5] yes=3,no=4,missing=3
## 3:leaf=0.0307698
## 4:leaf=-0.055922
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.0301998
## 6:leaf=0.01574
## booster[80]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<126.5] yes=3,no=4,missing=3
## 3:leaf=-0.00567311
## 4:leaf=0.00924353
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0288116
## 6:leaf=-0.0896216
## booster[81]
## 0:[f1<97.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.00553991
## 4:leaf=0.0307559
## 2:[f0<142.5] yes=5,no=6,missing=5
## 5:leaf=0.0145713
## 6:leaf=-0.0835369
## booster[82]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<193.5] yes=3,no=4,missing=3
## 3:leaf=0.00191762
## 4:leaf=-0.0363612
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0275927
## 6:leaf=-0.0886891
## booster[83]
## 0:[f0<126.5] yes=1,no=2,missing=1
## 1:[f1<86.5] yes=3,no=4,missing=3
## 3:leaf=0.00733167
## 4:leaf=-0.0267751
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0445792
## 6:leaf=-0.00398506
## booster[84]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f1<39.5] yes=3,no=4,missing=3
## 3:leaf=-0.0105629
## 4:leaf=0.00486799
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.0259148
## 6:leaf=-0.0875451
## booster[85]
## 0:[f0<73.5] yes=1,no=2,missing=1
## 1:[f1<51.5] yes=3,no=4,missing=3
## 3:leaf=0.0304605
## 4:leaf=-0.0502239
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.0279734
## 6:leaf=0.0141512
## booster[86]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<143.5] yes=3,no=4,missing=3
## 3:leaf=-0.00964442
## 4:leaf=0.0490797
## 2:[f0<162.5] yes=5,no=6,missing=5
## 5:leaf=0.00773567
## 6:leaf=-0.0748241
## booster[87]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<193.5] yes=3,no=4,missing=3
## 3:leaf=0.00164971
## 4:leaf=-0.032984
## 2:leaf=-0.0864555
## booster[88]
## 0:[f0<36.5] yes=1,no=2,missing=1
## 1:[f1<94.5] yes=3,no=4,missing=3
## 3:leaf=0.0109773
## 4:leaf=-0.101933
## 2:[f0<53.5] yes=5,no=6,missing=5
## 5:leaf=0.0509686
## 6:leaf=-0.00223371
## booster[89]
## 0:[f0<73.5] yes=1,no=2,missing=1
## 1:[f1<60.5] yes=3,no=4,missing=3
## 3:leaf=0.0222063
## 4:leaf=-0.0520737
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.0264743
## 6:leaf=0.013403
## booster[90]
## 0:[f1<5.5] yes=1,no=2,missing=1
## 1:[f0<136] yes=3,no=4,missing=3
## 3:leaf=0.00353133
## 4:leaf=0.0903941
## 2:[f1<28.5] yes=5,no=6,missing=5
## 5:leaf=-0.0202066
## 6:leaf=0.00249703
## booster[91]
## 0:[f1<172.5] yes=1,no=2,missing=1
## 1:[f0<181.5] yes=3,no=4,missing=3
## 3:leaf=0.00231563
## 4:leaf=-0.0182542
## 2:leaf=-0.0851772
## booster[92]
## 0:[f1<124.5] yes=1,no=2,missing=1
## 1:[f0<136.5] yes=3,no=4,missing=3
## 3:leaf=-0.00468371
## 4:leaf=0.0177042
## 2:[f0<141.5] yes=5,no=6,missing=5
## 5:leaf=0.0172184
## 6:leaf=-0.109317
## booster[93]
## 0:[f0<126.5] yes=1,no=2,missing=1
## 1:[f1<149.5] yes=3,no=4,missing=3
## 3:leaf=-0.0111457
## 4:leaf=0.0428689
## 2:[f0<139.5] yes=5,no=6,missing=5
## 5:leaf=0.0387742
## 6:leaf=-0.00371824
## booster[94]
## 0:[f1<124.5] yes=1,no=2,missing=1
## 1:[f0<136.5] yes=3,no=4,missing=3
## 3:leaf=-0.00369734
## 4:leaf=0.0161156
## 2:[f0<141.5] yes=5,no=6,missing=5
## 5:leaf=0.0133109
## 6:leaf=-0.10771
## booster[95]
## 0:[f1<170.5] yes=1,no=2,missing=1
## 1:[f0<183.5] yes=3,no=4,missing=3
## 3:leaf=0.00217775
## 4:leaf=-0.0189588
## 2:[f1<172.5] yes=5,no=6,missing=5
## 5:leaf=-0.02624
## 6:leaf=-0.0845793
## booster[96]
## 0:[f1<73.5] yes=1,no=2,missing=1
## 1:[f0<145.5] yes=3,no=4,missing=3
## 3:leaf=-0.00834555
## 4:leaf=0.0466758
## 2:[f0<104.5] yes=5,no=6,missing=5
## 5:leaf=-0.0443764
## 6:leaf=0.015681
## booster[97]
## 0:[f0<179.5] yes=1,no=2,missing=1
## 1:[f1<39.5] yes=3,no=4,missing=3
## 3:leaf=-0.0163056
## 4:leaf=0.0093933
## 2:[f1<70.5] yes=5,no=6,missing=5
## 5:leaf=0.031548
## 6:leaf=-0.0825369
## booster[98]
## 0:[f1<2.5] yes=1,no=2,missing=1
## 1:[f0<106] yes=3,no=4,missing=3
## 3:leaf=0.0161189
## 4:leaf=0.0842033
## 2:[f1<41.5] yes=5,no=6,missing=5
## 5:leaf=-0.0109644
## 6:leaf=0.00322579
## booster[99]
## 0:[f0<53.5] yes=1,no=2,missing=1
## 1:[f1<51.5] yes=3,no=4,missing=3
## 3:leaf=0.0688835
## 4:leaf=-0.0493243
## 2:[f1<38.5] yes=5,no=6,missing=5
## 5:leaf=-0.0332001
## 6:leaf=0.00754665



xgboost – single tree prediction

prediction <- predict(
xgmodel, as.matrix(full_x), ntreelimit=1)
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xgboost – many tree prediction

prediction <- predict(
xgmodel, as.matrix(full_x), ntreelimit=100)
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xgboost – deeper trees
param <- list(

objective = "reg:logistic",
eta = 0.1,
max_depth = 10)

xgmodel <- xgboost(
as.matrix(training_x), training_y,
param=param, nrounds=100)

## [1] train-rmse:0.462914
## [2] train-rmse:0.430583
## [3] train-rmse:0.401831
## [4] train-rmse:0.376708
## [5] train-rmse:0.354697
## [6] train-rmse:0.335532
## [7] train-rmse:0.318739
## [8] train-rmse:0.303990
## [9] train-rmse:0.291039
## [10] train-rmse:0.279531
## [11] train-rmse:0.269496
## [12] train-rmse:0.260858
## [13] train-rmse:0.253282
## [14] train-rmse:0.246818
## [15] train-rmse:0.240757
## [16] train-rmse:0.235391
## [17] train-rmse:0.230861
## [18] train-rmse:0.226598
## [19] train-rmse:0.222959
## [20] train-rmse:0.219815
## [21] train-rmse:0.217134
## [22] train-rmse:0.214668
## [23] train-rmse:0.212471
## [24] train-rmse:0.210754
## [25] train-rmse:0.209153
## [26] train-rmse:0.207623
## [27] train-rmse:0.206090
## [28] train-rmse:0.205053
## [29] train-rmse:0.203750
## [30] train-rmse:0.202715
## [31] train-rmse:0.201849
## [32] train-rmse:0.200907
## [33] train-rmse:0.200195
## [34] train-rmse:0.199327
## [35] train-rmse:0.198544
## [36] train-rmse:0.197881
## [37] train-rmse:0.197178
## [38] train-rmse:0.196472
## [39] train-rmse:0.196052
## [40] train-rmse:0.195588
## [41] train-rmse:0.195021
## [42] train-rmse:0.194668
## [43] train-rmse:0.194238
## [44] train-rmse:0.193588
## [45] train-rmse:0.193169
## [46] train-rmse:0.192736
## [47] train-rmse:0.191965
## [48] train-rmse:0.191324
## [49] train-rmse:0.190410
## [50] train-rmse:0.189739
## [51] train-rmse:0.189243
## [52] train-rmse:0.188640
## [53] train-rmse:0.188465
## [54] train-rmse:0.187743
## [55] train-rmse:0.187593
## [56] train-rmse:0.187302
## [57] train-rmse:0.187050
## [58] train-rmse:0.186871
## [59] train-rmse:0.186656
## [60] train-rmse:0.186511
## [61] train-rmse:0.186343
## [62] train-rmse:0.186267
## [63] train-rmse:0.185900
## [64] train-rmse:0.185194
## [65] train-rmse:0.184565
## [66] train-rmse:0.184434
## [67] train-rmse:0.183838
## [68] train-rmse:0.183389
## [69] train-rmse:0.183266
## [70] train-rmse:0.182703
## [71] train-rmse:0.182654
## [72] train-rmse:0.182324
## [73] train-rmse:0.182095
## [74] train-rmse:0.181973
## [75] train-rmse:0.181710
## [76] train-rmse:0.181351
## [77] train-rmse:0.180908
## [78] train-rmse:0.180635
## [79] train-rmse:0.180438
## [80] train-rmse:0.180376
## [81] train-rmse:0.180321
## [82] train-rmse:0.179741
## [83] train-rmse:0.179489
## [84] train-rmse:0.179037
## [85] train-rmse:0.178984
## [86] train-rmse:0.178497
## [87] train-rmse:0.178432
## [88] train-rmse:0.178036
## [89] train-rmse:0.177807
## [90] train-rmse:0.177664
## [91] train-rmse:0.177220
## [92] train-rmse:0.176983
## [93] train-rmse:0.176751
## [94] train-rmse:0.176708
## [95] train-rmse:0.176234
## [96] train-rmse:0.176012
## [97] train-rmse:0.175813
## [98] train-rmse:0.175493
## [99] train-rmse:0.175318
## [100] train-rmse:0.174922



xgboost – deeper trees

prediction <- predict(
xgmodel, as.matrix(x), ntreelimit=100)
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Feature engineering
engineer <- function(df) {

mutate(df,
x3 = x1+x2,
x4 = x1-x2

)
}

xgmodel <- xgboost(
as.matrix(engineer(training_x)), training_y,
param=param, nrounds=100)

## [1] train-rmse:0.464108
## [2] train-rmse:0.432016
## [3] train-rmse:0.403731
## [4] train-rmse:0.379284
## [5] train-rmse:0.358085
## [6] train-rmse:0.339240
## [7] train-rmse:0.322536
## [8] train-rmse:0.307658
## [9] train-rmse:0.294821
## [10] train-rmse:0.283668
## [11] train-rmse:0.274207
## [12] train-rmse:0.265935
## [13] train-rmse:0.258862
## [14] train-rmse:0.252784
## [15] train-rmse:0.247439
## [16] train-rmse:0.242620
## [17] train-rmse:0.237376
## [18] train-rmse:0.232747
## [19] train-rmse:0.228438
## [20] train-rmse:0.224399
## [21] train-rmse:0.220815
## [22] train-rmse:0.217362
## [23] train-rmse:0.214176
## [24] train-rmse:0.211637
## [25] train-rmse:0.209272
## [26] train-rmse:0.207201
## [27] train-rmse:0.205360
## [28] train-rmse:0.203536
## [29] train-rmse:0.202147
## [30] train-rmse:0.201000
## [31] train-rmse:0.200157
## [32] train-rmse:0.199069
## [33] train-rmse:0.197895
## [34] train-rmse:0.196995
## [35] train-rmse:0.196488
## [36] train-rmse:0.195943
## [37] train-rmse:0.195441
## [38] train-rmse:0.194932
## [39] train-rmse:0.194419
## [40] train-rmse:0.193958
## [41] train-rmse:0.193461
## [42] train-rmse:0.192599
## [43] train-rmse:0.192190
## [44] train-rmse:0.191734
## [45] train-rmse:0.191065
## [46] train-rmse:0.190714
## [47] train-rmse:0.190354
## [48] train-rmse:0.189684
## [49] train-rmse:0.189525
## [50] train-rmse:0.189207
## [51] train-rmse:0.189014
## [52] train-rmse:0.188447
## [53] train-rmse:0.188356
## [54] train-rmse:0.188178
## [55] train-rmse:0.188125
## [56] train-rmse:0.187995
## [57] train-rmse:0.187715
## [58] train-rmse:0.187627
## [59] train-rmse:0.187496
## [60] train-rmse:0.187437
## [61] train-rmse:0.186840
## [62] train-rmse:0.186773
## [63] train-rmse:0.186610
## [64] train-rmse:0.186553
## [65] train-rmse:0.186426
## [66] train-rmse:0.186224
## [67] train-rmse:0.186159
## [68] train-rmse:0.185934
## [69] train-rmse:0.185718
## [70] train-rmse:0.185526
## [71] train-rmse:0.185358
## [72] train-rmse:0.184977
## [73] train-rmse:0.184873
## [74] train-rmse:0.184734
## [75] train-rmse:0.184456
## [76] train-rmse:0.184378
## [77] train-rmse:0.184134
## [78] train-rmse:0.184006
## [79] train-rmse:0.183912
## [80] train-rmse:0.183252
## [81] train-rmse:0.182399
## [82] train-rmse:0.182246
## [83] train-rmse:0.182156
## [84] train-rmse:0.181875
## [85] train-rmse:0.181275
## [86] train-rmse:0.180696
## [87] train-rmse:0.180485
## [88] train-rmse:0.179713
## [89] train-rmse:0.179616
## [90] train-rmse:0.179250
## [91] train-rmse:0.178739
## [92] train-rmse:0.178607
## [93] train-rmse:0.178067
## [94] train-rmse:0.177475
## [95] train-rmse:0.177412
## [96] train-rmse:0.177367
## [97] train-rmse:0.177116
## [98] train-rmse:0.177046
## [99] train-rmse:0.176620
## [100] train-rmse:0.176086



Feature engineering

prediction <- predict(
xgmodel, as.matrix(engineer(full_x)), ntreelimit=100)
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Part 2: Kaggle competition

Given 61,332,803 pharmacy drug purchases by 558,352 people in
2011-2016.

Predict purchase of diabetes-related drugs in 2016.

I Training set of 279,200 people.
I Test set of 279,152 people (2016 purchases omitted from

dataset).

Scoring by ROC AUC.



The logic

Why did you . . . ?

I Because it very slightly increased the AUC.



The basic approach

R

Construct a large sparse matrix of predictor variables.

Apply statistical or machine learning packages:

I glmnet
I xgboost
I Stan (not used in final prediction)

Blend predictions from several packages and parameter choices.

http://tinyurl.com/medaka2017

http://tinyurl.com/medaka2017


Bagging and blending

Bootstrap AGGregation:

I Posterior sampling of models, average over predictions.
I Each bootstrap automatically leaves out 37% of patients, a

ready-made test-set for cross-validation.

Average over these test-sets can be used to blend different
approaches.



Predictor variables

I Gender, age, postcode
I How many of each drug purchased, log(1+n) transformed

I Over all time
I From 2015
I . . .

I Drug purchases collated by chronic illness, log(1+n)
transformed

I Prescriber, 1 if ever seen else 0
I Store, proportion of purchases

7521 drugs, 11 chronic illnesses, 2665 stores, 2529 postcodes



irlba

Augment matrix with 10-20 principal components (maximum irlba
package could compute).

I Help tree methods, which otherwise always split on a single
predictor.

I Unsupervised learning from test-set patients.



glmnet

Logistic regression.

Elastic-net regularization – a mixture of L1 and L2. Mostly L2 with
just a little L1 worked best.

I AUC 0.9657



Digression: an interpretable model, illness level

Logistic regression coefficients.

Hypertension

Urology
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(Intercept)
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Digression: example of an interpretable model
L1 regularized logistic regression on whether each patient took each
drug.

Top positive and negative coefficients, omitting diabetes drugs:

coef illness MasterProductFullName GenericIngredientName

0.353 Lipids LIPIDIL TAB 145MG 30 FENOFIBRATE
0.168 Lipids CRESTOR TAB 10MG 30 ROSUVASTATIN
0.163 Lipids LIPITOR TAB 40MG 30 ATORVASTATIN
0.113 Lipids CRESTOR TAB 20MG 30 ROSUVASTATIN
0.109 Lipids LIPITOR TAB 20MG 30 ATORVASTATIN
0.103 Lipids VYTORIN TAB 10MG/40MG 30 EZETIMIBE/SIMVASTATIN
0.097 Hypertension AVAPRO HCT TAB 300MG/12.5MG 30 IRBESARTAN/HYDROCHLOROTHIAZIDE
0.095 Lipids LIPITOR TAB 80MG 30 ATORVASTATIN

coef illness MasterProductFullName GenericIngredientName

-0.109 NA PANTOPRAZOLE (APO) EC-TABS 40MG 30 BLISTER PANTOPRAZOLE
-0.089 NA PARIET EC-TABS 20MG 30 RABEPRAZOLE
-0.086 NA NEXIUM EC-TABS 20MG 30 ESOMEPRAZOLE
-0.071 NA PANADOL OSTEO SR-TAB 665MG 96 PARACETAMOL
-0.031 COPD SPIRIVA INH-CAP 18MCG 30 TIOTROPIUM BROMIDE
-0.021 Osteoporosis PROTOS SACH 2G 28 STRONTIUM RANELATE
-0.014 Hypertension MICARDIS TAB 40MG 28 TELMISARTAN



xgboost

L1 and L2 regularization parameters. Learning rate and number of
trees also constitute regularization.

Transformation of individual predictors not important.

Combination of predictors potentially important.

I AUC 0.9698



Other predictions

glmnet splitting data by “diabetic prior to 2016”

I AUC 0.9664

xgboost starting from 0.5 * glmnet log odds

I AUC 0.9703

Final blended model:

I AUC 0.9705
I AUC 0.9708 on 10% of test data
I AUC 0.9706 on full test data



Is it useful?

Baseline prediction

diabetic pre-2016
diabetic 2016 FALSE TRUE

FALSE 213836 10991
TRUE 3611 50714

I AUC just from diabetic pre-2016 0.9423

My prediction, by subset

I AUC already diabetic subset 0.8907
I AUC not already diabetic subset 0.6564



Is it useful?
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Thanks to my Insights Competition team-mates in team Merops:

Di Cook
Earo Wang
Nat Tomasetti
Stuart Lee

R code: http://tinyurl.com/medaka2017

Figure 1: transparent_merops.png

http://tinyurl.com/medaka2017

